Scholastic Aptitude Test (SAT)

Below are given sample questions on SAT in different subjects. These
guestions are basically multiple-choice questions where one alternative is
correct. However, some questions are of different types like matching type,
arrange the sequence, true and false statements and questions based on passages
apart from simple multiple choice questions. After the questions, the key has
been provided for each question. The rationale of some questions has aso been
given which will help you to solve these questions. The rest of the questions,
you solve yourself by exercising your thinking, reasoning ability and logic.

Sample Questionsin Social Sciences

1.  Which of thefollowing pairsis correctly matched?

1. ILO - London

2. 1CJ - Hague

3. UNESCO- Washington
4. WHO - Pais

2. Arrange the following Indo-Pak eventsin correct chronological order.
A. Creation of Bangladesh
B. Tashkant Declaration
C. SimlaAgreement
D. Lahore Declaration

Which order is correct?
1. ACDB
2. BACD
3. DBAC
4. ABCD

3-4 Direction: Read the following statement and answer the questions that follow.

"Indiawith over 2 percent of the world's geographical areaisinhibited by
16 percent of the world population”.

3. Fromthe above statement, it isinferred that in the world population amost every

1. 5" personisindian
2. 6" personisIndian
3. 7" personisIndian
4. 8" personisindian



4. Which of the following countries fitsin a completely reverse position explained in

the above statement?
1. China
2. Bangladesh
3. United Kingdom
4. Audtrdia
5. Which pairs are correctly matched? Select the correct aternative.
a. Brahmo Samg - Dayanand Saraswati
b. AryaSamg- Vivekananda
c. Ramakrishna Mission - Rgja Ram Mohan Roy
d. Aligarh Movement - Syed Ahmed Khan
e. VedaSamag - Cembeti Sridharlu Naidu
1. aandd
2. bande
3. dande
4. candd
6. Some persons and events are stated below:
A. WarrenHastings | Theosophical Society of India
B. Col. Olcott [l Dud Government in Bengal
C. LordRipon 11 The French Revolution
D. Tipu Sultan IV TheLocal Self Government
Which of the following indicates the correct matching of the above ’
1. Al B.Il Cll D.IV
2. All B.1Il C. 1l D.I
3. All B.I C.Iv D.
4 AlV B.Il  C. 1 D. I
7. Stated below are some statements.

a. The Modern Age suddenly came into existence

b. The Renaissance emphasized the value of reason and scientific temper in life.

c. ThelIndustrial Revolution in England led to the decline of Cottage Industriesin
India.

Which statements are true?

aand b
bandc
aandc
abandc
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8-9. Read the passage given below and answer the questions that follow.

The later part of the eighteenth century saw two revolutions, which played an
important role in the making of the modem world.

Thefirst one involved English Government against its thirteen colonies. Most of
the people settled in these colonies had come from England.

8. The passageisreferring to two revolutions. Which of the following are these?

1. Russian Revolution and French Revolution

2. American Revolution and French Revolution
3.  American Revolution and Chinese Revolution
4. French Revolution and Chinese Revolution

9. Which of the following Revolutionsis related to the thirteen English Colonies?

1. Russian Revolution
2.  American Revolution
3. Industria Revolution
4. French Revolution

10. A volcano erupts on the ocean floor and a ship is located on the oceanic surface
very close to the epicentre. Which one of the following conditions will the ship

face?

1. gettoppled

2. drift away

3. wreck

4. not much of achange

11. Read thefollowing statements
A. Thetownsin Canadian prairies developed after the construction of
Canadian Pacific Railway.
B. Most of the Cities of Indiawere connected by railways after these had
already developed.

Which one of the following is correct?

A istrue, B isfase
Aisfdse Bistrue
Both A and B are true
Both A and B arefalse
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12. Which one of the following sequences of the atmospheric layers will a space shuttle
encounter while returning to the earth?

1. lonosphere, Mesosphere, Stratosphere, Troposphere
2.  Mesosphere, Stratosphere, lonosphere, Troposphere
3. Stratosphere, lonosphere, Mesosphere, Troposphere
4. lonosphere, Stratosphere, Mesosphere, Troposphere

13. Given below are some characteristics of aregion.
a  Rainfall is scanty
b. Difference between day and night temperature is high
c. Very little vegetation is found

Which of the following regions has al these features?

1. coasts
2. deserts
3. plateaus
4. plains
14. Given below is the scale, which shows in sequence the limits of crust, outer mantle, inner

mantle, outer core and inner core represented by 1,2,3,4 and 5 respectively. Which of
the following scal es represents the correct pattern of measurement?

-1 -+ -1 -1
-2 2 -2

-2
L3 -3 s

)

4 Itl. L &
Lg L5 5 L5
' 2 k) &

15. Read the following:

a. 80% of forests have been cleared.
b. A quarter of world's mammals are at risk of extinction.
c. Globa warming will trigger a devastating rise in sealevels.

Which of the following best explains all of the above?
Increasing industrialization
Large scale urbanization

1

2.

3. Increased human activity
4. Large scale mechanization
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Solutionsto Questionson Social Science

Q.No.

Key

Rationale

1.

2

International Court of Justiceislocated at Hague.

WHO is not at Paris, UNESCO at not at Washington, and ILO not at London.
Therefore aternative 2 is the answer.

Lahore Declaration took place in 1929, Tashkent Declaration in 1966, creation
of Bangladesh in 1971, and Shimla Agreement in 1972. Therefore aternative 3
isthe answer.

16% of the World Population means 1/6™ of the population, which implies that
every 6" person is an Indian.

Australia has a large area of land but is sparsely populated. All the other three
countries are thickly populated. Therefore, the answer is aternative 4.

The answer key gives the clue.

Warren Hastings was associated with dual Government in Bengal, Col. Olcott
with Theosophical Society of India, Lord Ripon with the Loca Self
Government and Tipu Sultan with the French Revolution. The answer
therefore is at alternative 3, which shows the correct matching.

In this question you have to reason out which statements are true. Here the first
statement is not true, as the Modern Age could not come into existence
suddenly. Hence, dternative 2 is correct which shows that statements b and ¢
aretrue.

This question is based on a given passage. You have to find out which
revolutions the passage is referring to.  For the first revolution the hint is given
in the passage. It involved 13 English Colonies, where the settlers were from
England. You will redlize that their colonies were located in America. So one
Revolution is American Revolution, and the second one is French Revolution
as it was important in shaping the modern world. The Russian Revolution and
the Chinese Revolution took place in 20" Century only. So the answer is
alternative 2.

This question is related to the first question. Y ou can reason it out because the
13 colonies mentioned here were in America. So the answer is 2.
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The rest of the questions you may reason out yourself.
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